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Al 39 |smexTpommTOBas 8,30

: = 40 |kopunop 2,20

| | g 41 |rambyp 7,60

I 42 |rambyp 10,60

| 43 |kopunop 4,20

44 |y3en BBOIA 14,20

Hroro: 47,10

|A3| 77 |xopuzop 7,80
| 78 |xopuzop 11,30
79 |xopuzop 15,00

: 80 |snextpommToBas 18,10

| 81 |kopumop 26,30

| 82 |kopuzop 36,40

| 83 |kopuzop 23,30

| 84 |xopuzop 4,10

| 85 |kopuzop 16,70

L |- 86 |macocHas 8,60

| | g 87 |xopuzop 20,40

I 88 |xopunop 35,90

| 89 |kopuzop 7,00

| 90 |kopuzop 2,90

| 91 |kopuzop 6,10

| 92 |kopuzop 16,90

| 93 |xopuzmop 23,50

|| 94 |kopuzmop 14,90

|| 95 |kopuzmop 7,60

L 96 |kopumop 18,00

Hroro: 360,70
Hroro m.) 407,80
noaBaJy:

Al 1] 73 1 |xunas 16,60 16,60 16,60 2,50

2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,70 3,70 7,40
Hroro: 35,70 39,40 16,60 19,10 3,70 7,40 43,10
74 1 |xunas 15,20 15,20 15,20
2 |xumas 13,20 13,20 13,20
3 |kyxast 15,50 15,50 15,50
4 |ryamer 1,70 1,70 1,70
5 |sannas 2,80 2,80 2,80
6 [xkmamomas 3,40 3,40 3,40
7  |xopumop 8,90 8,90 8,90
8 [kopumop 1,90 1,90 1,90
9 |momxus 2,10 2,10 4,10
10 |nomxus 2,00 2,00 3,90
2 Hroro: 62,60 66,70 28,40 34,20 4,10 8,00 70,60
75 1 |xunas 15,00 15,00 15,00
2 |xumas 13,20 13,20 13,20
3 |xyxast 15,20 15,20 15,20
4 |ryamer 1,60 1,60 1,60
5 |sannas 2,70 2,70 2,70
6 [xkmamomas 3,40 3,40 3,40
7  |xopumop 8,90 8,90 8,90
8 [xopumop 1,80 1,80 1,80
9 |momxus 2,10 2,10 4,10
10 |nomxus 2,00 2,00 3,90
2 Hroro: 61,80 65,90 28,20 33,60 4,10 8,00 69,80
76 1 |xunas 16,60 16,60 16,60
2 |xyxns 11,40 11,40 11,40
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3 |canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,70 3,70 7,30
Hroro: 35,70 39,40 16,60 19,10 3,70 7,30 43,00
34 |mudrosoit xomn 5,00
35 |ramOyp 4,40
36 [nudrosoii xomn 4,90
37 |ramOyp 4,30
38 |ramOyp 12,10
Hroro: 30,70
39 |ramOyp 4,80
40 |rambyp 6,60
41 |kopunop 29,10
42 |kopunop 19,10
43 |kopunop 15,20
44 |madrosoit xomt 7,70
45 |kopunop 2,80
46 |[KVU 3,20
47 |xopunop 15,30
Hroro: 103,80
| |necr. knetka 13,20
Il |mecr. kneTka 12,80
Hroro: 26,00
Il |nect. kneTka 6,70
Hroro: 6,70
Hroro mo 1 195,80 211,40 89,80 10600 | 1560 167,20 | 3070 | 22650
ITAKY:
Al 2 1 1 |xunas 16,00 16,00 16,00 2,50
2 |xyxast 9,30 9,30 9,30
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
6 |momkus 1,60 1,60 3,10
Hroro: 34,30 35,90 16,00 18,30 1,60 3,10 37,40
2 1 |xunas 18,20 18,20 18,20
2 |xunas 14,00 14,00 14,00
3 |kyxas 9,50 9,50 9,50
4  |panHas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7  |xopumop 10,20 10,20 10,20
8 [kmamosas 3,10 3,10 3,10
9 |Gankon 0,90 0,90 2,90
Hroro: 62,10 63,00 32,20 29,90 0,90 2,90 65,00
3 1 |xunas 16,00 16,00 16,00
2 |xyxast 9,40 9,40 9,40
3 |annas 2,50 2,50 2,50
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6 |Gankon 1,00 1,00 3,40
Hroro: 34,40 35,40 16,00 18,40 1,00 3,40 37,80
4 1 |xunas 16,00 16,00 16,00
2 |xyxast 9,30 9,30 9,30
3 |annas 2,60 2,60 2,60
4  |tyaner 1,40 1,40 1,40
5 [xopumop 5,00 5,00 5,00
6 |0ankon 1,00 1,00 3,30
Hroro: 34,30 35,30 16,00 18,30 1,00 3,30 37,60
5 1 |xwunas 18,10 18,10 18,10
2 |xunast 13,70 13,70 13,70
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3 |xyxast 9,30 9,30 9,30
4  |pannas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 |kopumop 3,00 3,00 3,00
7  |xopumop 10,00 10,00 10,00
8 [kmamosas 3,10 3,10 3,10
9 [6ankon 0,90 0,90 2,90
Hroro: 61,20 62,10 31,80 29,40 0,90 2,90 64,10
6 1 |xunas 16,00 16,00 16,00
2 |xyxast 9,10 9,10 9,10
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 |kopumop 4,80 4,80 4,80
6  |momkus 1,60 1,60 3,10
Hroro: 33,90 35,50 16,00 17,90 1,60 3,10 37,00
37 1 |xunas 15,90 15,90 15,90
2 |xyxast 9,00 9,00 9,00
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 4,90 4,90 4,90
6 |momkus 1,60 1,60 3,10
Hroro: 33,80 35,40 15,90 17,90 1,60 3,10 36,90
38 1 |xunas 18,10 18,10 18,10
2 |xunas 13,60 13,60 13,60
3 |xyxns 9,40 9,40 9,40
4 |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,00 3,00 3,00
7 |xopumop 10,00 10,00 10,00
8 [|kmamosast 3,00 3,00 3,00
9 |6ankon 0,90 0,90 2,90
Hroro: 61,10 62,00 31,70 29,40 0,90 2,90 64,00
39 1 |xunas 15,90 15,90 15,90
2 |xyxns 9,40 9,40 9,40
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 5,00 5,00 5,00
6 |0ankon 1,00 1,00 3,30
Hroro: 34,30 35,30 15,90 18,40 1,00 3,30 37,60
40 1 |xunas 15,90 15,90 15,90
2 |xyxns 9,40 9,40 9,40
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 5,00 5,00 5,00
6 |0ankon 1,00 1,00 3,30
Hroro: 34,30 35,30 15,90 18,40 1,00 3,30 37,60
41 1 |xunas 18,20 18,20 18,20
2 |xunas 14,00 14,00 14,00
3 |xyxns 9,50 9,50 9,50
4  |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,10 3,10 3,10
7 |xopumop 10,20 10,20 10,20
8 [|kmamosast 3,10 3,10 3,10
9 |6ankon 0,90 0,90 2,90
Hroro: 62,10 63,00 32,20 29,90 0,90 2,90 65,00
42 1 |xunas 15,90 15,90 15,90
2 |xyxast 9,40 9,40 9,40
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
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6  |momkus 1,60 1,60 3,10
Hroro: 34,30 35,90 15,90 18,40 1,60 3,10 37,40
77 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,40 11,40 11,40
3 |canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,70 3,70 7,30
Hroro: 35,70 39,40 16,60 19,10 3,70 7,30 43,00
78 1 |xunas 15,20 15,20 15,20
2 |xunas 13,30 13,30 13,30
3 |xyxas 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 [Bannas 2,70 2,70 2,70
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 9,10 9,10 9,10
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,10 2,10 4,10
10 |momxus 2,00 2,00 3,90
Hroro: 62,70 66,80 28,50 34,20 4,10 8,00 70,70
79 1 |xunas 15,20 15,20 15,20
2 |kyxus 14,30 14,30 14,30
3 [canysen 4,20 4,20 4,20
4 |kmamoBas 3,60 3,60 3,60
5 [kopumop 9,60 9,60 9,60
6 |momkus 3,40 3,40 6,80
Hroro: 46,90 50,30 15,20 31,70 3,40 6,80 53,70
80 1 |xunas 15,20 15,20 15,20
2 |xunas 13,40 13,40 13,40
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sanHas 2,80 2,80 2,80
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 9,00 9,00 9,00
8 [xopumop 1,90 1,90 1,90
9 |momxus 2,10 2,10 4,10
10 |nomxus 2,00 2,00 3,90
Hroro: 62,80 66,90 28,60 34,20 4,10 8,00 70,80
81 1 |xunas 16,60 16,60 16,60
2 |xyxns 11,50 11,50 11,50
3 [canysen 3,80 3,80 3,80
4 |xopunop 3,90 3,90 3,90
5 |momkus 3,70 3,70 7,30
Hroro: 35,80 39,50 16,60 19,20 3,70 7,30 43,10
1 |xopumop 24,30
2 |xopunop 24,20
Horo: 48,50
3 |xopunop 15,20
4 |xopunop 13,10
5 |xopunop 15,50
6 |madrosoii xomn 7,90
7 |xopunop 5,50
Hroro: 57,20
| |necr. knetka 23,10
Il |mect. kneTka 22,80
Hroro: 45,90
Il |necr. knetka 13,00
Hroro: 13,00
:/IT:;;:““Z 764,00 797,00 36100 | 40300 | 3300 16460 | 7470 | 83870
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Al 3 7 1 |xwunas 16,00 16,00 16,00 2,50
2 |xyxast 9,30 9,30 9,30
3 |annHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
6 |momkus 1,40 1,40 2,80
Hroro: 34,30 35,70 16,00 18,30 1,40 2,80 37,10
8 1 |xunas 18,30 18,30 18,30
2 |xunas 14,10 14,10 14,10
3 |xyxast 9,50 9,50 9,50
4  |pannas 2,60 2,60 2,60
5 |[ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7  |xopumop 10,20 10,20 10,20
8 [kmamosas 3,10 3,10 3,10
9 [6ankon 0,80 0,80 2,60
Hroro: 62,30 63,10 32,40 29,90 0,80 2,60 64,90
9 1 |xunas 16,00 16,00 16,00
2 |xyxast 9,40 9,40 9,40
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 |kopugop 5,10 5,10 5,10
6 |6ankon 0,90 0,90 3,10
Hroro: 34,50 35,40 16,00 18,50 0,90 3,10 37,60
10 1 |xunas 16,00 16,00 16,00
2 |xyxns 9,40 9,40 9,40
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [kopumop 510 5,10 5,10
6 |0ankon 0,90 0,90 3,10
Hroro: 34,50 35,40 16,00 18,50 0,90 3,10 37,60
11 1 |xunas 18,20 18,20 18,20
2 |xunas 13,60 13,60 13,60
3 |xyxns 9,40 9,40 9,40
4 |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,00 3,00 3,00
7 |xopumop 9,90 9,90 9,90
8 [|kmamosast 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,60
Hroro: 61,20 62,00 31,80 29,40 0,80 2,60 63,80
12 1 |xunas 15,90 15,90 15,90
2 |xyxns 9,10 9,10 9,10
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 4,80 4,80 4,80
6 |momkus 1,50 1,50 2,90
Hroro: 33,80 35,30 15,90 17,90 1,50 2,90 36,70
43 1 |xunas 15,90 15,90 15,90
2 |xyxns 9,10 9,10 9,10
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 4,90 4,90 4,90
6 |momkus 1,50 1,50 2,90
Hroro: 33,90 35,40 15,90 18,00 1,50 2,90 36,80
44 1 |xunas 18,20 18,20 18,20
2 |xunas 13,60 13,60 13,60
3 |xyxas 9,40 9,40 9,40
4  |panHas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 [kopumop 3,10 3,10 3,10
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7  |xopumop 10,00 10,00 10,00
8 [kmamosas 3,10 3,10 3,10
9 [6ankon 0,80 0,80 2,70
Hroro: 61,40 62,20 31,80 29,60 0,80 2,70 64,10
45 1 |xunas 16,00 16,00 16,00
2 |xyxast 9,40 9,40 9,40
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6 |6agxon 0,90 0,90 3,10
Hroro: 34,50 35,40 16,00 18,50 0,90 3,10 37,60
46 1 |xunas 16,00 16,00 16,00
2 |xyxast 9,30 9,30 9,30
3 |annHas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 |kopumop 5,00 5,00 5,00
6 |6agkon 0,90 0,90 3,10
Hroro: 34,30 35,20 16,00 18,30 0,90 3,10 37,40
47 1 |xunas 18,20 18,20 18,20
2 |xunas 13,90 13,90 13,90
3 |kyxus 9,40 9,40 9,40
4 |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,10 3,10 3,10
7 |xopumop 10,20 10,20 10,20
8 [|kmamosast 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,70
Hroro: 61,90 62,70 32,10 29,80 0,80 2,70 64,60
48 1 |xunas 16,00 16,00 16,00
2 |xyxns 9,30 9,30 9,30
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 5,00 5,00 5,00
6 |momkus 1,50 1,50 2,90
Hroro: 34,30 35,80 16,00 18,30 1,50 2,90 37,20
82 1 |xunas 16,60 16,60 16,60
2 |xyxns 11,50 11,50 11,50
3 [canysen 3,80 3,80 3,80
4 |xopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 7,00
Hroro: 35,80 39,30 16,60 19,20 3,50 7,00 42,80
83 1 |xunas 15,20 15,20 15,20
2 |xunas 13,20 13,20 13,20
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sannas 2,80 2,80 2,80
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 9,20 9,20 9,20
8 [xopumop 1,90 1,90 1,90
9 |momxus 1,90 1,90 3,80
10 |nomxus 1,90 1,90 3,70
Hroro: 62,80 66,60 28,40 34,40 3,80 7,50 70,30
84 1 |xunas 15,30 15,30 15,30
2 |xyxns 14,40 14,40 14,40
3 |canysen 4,20 4,20 4,20
4 |knamosas 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6 |momkus 3,20 3,20 6,40
Hroro: 47,20 50,40 15,30 31,90 3,20 6,40 53,60
85 1 |xunas 15,30 15,30 15,30
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2 |xunas 13,30 13,30 13,30
3 |xyxast 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 [Bannas 2,70 2,70 2,70
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 9,00 9,00 9,00
8 [kopumop 1,90 1,90 1,90
9  |momxus 1,90 1,90 3,80
10 |nmomxms 1,80 1,80 3,60
Hroro: 62,70 66,40 28,60 34,10 3,70 7,40 70,10
86 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 7,00
Hroro: 35,70 39,20 16,60 19,10 3,50 7,00 42,70
87 1 |xunas 16,70 16,70 16,70
2 |xunas 11,70 11,70 11,70
3 |xunas 16,40 16,40 16,40
4 |xyxast 18,10 18,10 18,10
5 [canyszen 8,30 8,30 8,30
6 |ryamer 1,60 1,60 1,60
7 |xopumop 11,40 11,40 11,40
8 [xopumop 4,60 4,60 4,60
9 |momxus 1,90 1,90 3,70
10 |nomxus 3,00 3,00 6,00
Hroro: 88,80 93,70 44,80 44,00 4,90 9,70 98,50
88 1 |xunas 16,60 16,60 16,60
2 |xwunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |kyxus 18,20 18,20 18,20
5 [canysen 8,30 8,30 8,30
6 [ryaner 1,70 1,70 1,70
7 |xopumop 11,30 11,30 11,30
8 [xopumop 4,60 4,60 4,60
9 |momxus 1,90 1,90 3,80
10 |nomxus 3,00 3,00 6,00
Hroro: 88,70 93,60 44,60 44,10 4,90 9,80 98,50
1 |xopumop 24,30
2 |xopunop 24,40
Hroro: 48,70
3 |xopunop 15,10
4 |xopunop 13,00
5 |xopunop 15,10
6 |madrosoii xomn 7,90
7 |xopumop 5,50
Hroro: 56,60
| |necr. knetka 23,30
Il |nect. knetka 23,40
Hroro: 46,70
Il |nect. knetka 13,00
Hroro: 13,00
g;‘;;_“”s 942,60 982,80 450,80 491,80 40,20 165,00 | 89,30 | 1031,90
Al 4] 13 1 |xwnas 16,00 16,00 16,00 2,50
2 |xyxns 9,30 9,30 9,30
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 510 5,10 5,10
6 |momkus 1,40 1,40 2,80
Hroro: 34,40 35,80 16,00 18,40 1,40 2,80 37,20
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14 1 |xunas 18,10 18,10 18,10
2 |xunas 14,00 14,00 14,00
3 |xyxast 9,50 9,50 9,50
4  |pannas 2,50 2,50 2,50
5 |[ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7  |xopumop 10,20 10,20 10,20
8 [kmamosas 3,10 3,10 3,10
9 [6ankon 0,80 0,80 2,60
Hroro: 61,90 62,70 32,10 29,80 0,80 2,60 64,50
15 1 |xunas 15,90 15,90 15,90
2 |xyxast 9,40 9,40 9,40
3 |annHas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6 |6agkon 0,90 0,90 3,10
Hroro: 34,40 35,30 15,90 18,50 0,90 3,10 37,50
16 1 |xunas 16,00 16,00 16,00
2 |xyxast 9,30 9,30 9,30
3 |annas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 5,00 5,00 5,00
6 |0ankon 0,90 0,90 3,10
Hroro: 34,30 35,20 16,00 18,30 0,90 3,10 37,40
17 1 |xunas 18,10 18,10 18,10
2 |xunas 13,50 13,50 13,50
3 |xyxns 9,40 9,40 9,40
4 |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,10 3,10 3,10
7 |xopumop 10,10 10,10 10,10
8 [|kmamosast 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,60
Hroro: 61,30 62,10 31,60 29,70 0,80 2,60 63,90
18 1 |xunas 16,00 16,00 16,00
2 |xyxns 9,10 9,10 9,10
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [kopumop 4,90 4,90 4,90
6 |momkus 1,40 1,40 2,80
Hroro: 34,00 35,40 16,00 18,00 1,40 2,80 36,80
49 1 |xunas 16,00 16,00 16,00
2 |xyxns 9,10 9,10 9,10
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 4,90 4,90 4,90
6 |momkus 1,40 1,40 2,80
Hroro: 34,00 35,40 16,00 18,00 1,40 2,80 36,80
50 1 |xunas 18,20 18,20 18,20
2 |xunas 13,60 13,60 13,60
3 |xyxns 9,40 9,40 9,40
4  |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,00 3,00 3,00
7 |xopumop 10,00 10,00 10,00
8 [kmamosas 3,10 3,10 3,10
9 [6ankon 0,80 0,80 2,60
Hroro: 61,30 62,10 31,80 29,50 0,80 2,60 63,90
51 1 |xunas 15,80 15,80 15,80
2 |xyxast 9,30 9,30 9,30
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3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
6 |6agkon 0,90 0,90 3,10
Hroro: 34,10 35,00 15,80 18,30 0,90 3,10 37,20
52 1 |xunas 15,90 15,90 15,90
2 |xyxast 9,30 9,30 9,30
3 |annHas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
6 |6agkon 0,90 0,90 3,10
Hroro: 34,20 35,10 15,90 18,30 0,90 3,10 37,30
53 1 |xunas 18,10 18,10 18,10
2 |xunas 13,90 13,90 13,90
3 |xyxast 9,40 9,40 9,40
4  |pannas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7  |xopumop 10,20 10,20 10,20
8 [kmamosas 3,10 3,10 3,10
9 [6ankon 0,80 0,80 2,70
Hroro: 61,80 62,60 32,00 29,80 0,80 2,70 64,50
54 1 |xunas 15,90 15,90 15,90
2 |xyxns 9,40 9,40 9,40
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 510 5,10 5,10
6 |momkus 1,50 1,50 2,90
Hroro: 34,40 35,90 15,90 18,50 1,50 2,90 37,30
89 1 |xunas 16,50 16,50 16,50
2 |xyxns 11,40 11,40 11,40
3 [canysen 3,80 3,80 3,80
4 |xopunop 3,90 3,90 3,90
5 |momxus 3,50 3,50 6,90
Hroro: 35,60 39,10 16,50 19,10 3,50 6,90 42,50
90 1 |xunas 15,10 15,10 15,10
2 |xwunas 13,20 13,20 13,20
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sanHas 2,80 2,80 2,80
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 9,20 9,20 9,20
8 [xopumop 1,90 1,90 1,90
9 |momxus 1,90 1,90 3,80
10 |nomxus 1,80 1,80 3,60
Hroro: 62,70 66,40 28,30 34,40 3,70 7,40 70,10
91 1 |xunas 15,20 15,20 15,20
2 |xyxns 14,50 14,50 14,50
3 [canysen 4,20 4,20 4,20
4 |kmamosast 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6 |momkus 3,20 3,20 6,40
Hroro: 47,20 50,40 15,20 32,00 3,20 6,40 53,60
92 1 |xunas 15,30 15,30 15,30
2 |xunas 13,30 13,30 13,30
3 |xyxas 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 |Bannas 2,80 2,80 2,80
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 8,90 8,90 8,90
8 [kopumop 1,90 1,90 1,90
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9  |momxus 1,90 1,90 3,80
10 |momxus 1,80 1,80 3,60
2 Hroro: 62,70 66,40 28,60 34,10 3,70 7,40 70,10
93 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 7,00
Hroro: 35,70 39,20 16,60 19,10 3,50 7,00 42,70
94 1 |xunas 16,60 16,60 16,60
2 |xunas 11,80 11,80 11,80
3 |xunas 16,30 16,30 16,30
4 |kyxast 18,00 18,00 18,00
5 [canyszen 8,30 8,30 8,30
6 [ryamer 1,70 1,70 1,70
7  |xopumop 11,30 11,30 11,30
8 [kopumop 4,60 4,60 4,60
9  |momxus 1,90 1,90 3,70
10 |momxus 3,00 3,00 5,90
3 Hroro: 88,60 93,50 44,70 43,90 4,90 9,60 98,20
95 1 |xunas 16,50 16,50 16,50
2 |xwunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |kyxus 18,20 18,20 18,20
5 [canysen 8,40 8,40 8,40
6 [ryaner 1,70 1,70 1,70
7 |xopumop 11,30 11,30 11,30
8 [xopumop 4,60 4,60 4,60
9 |momxus 1,90 1,90 3,80
10 |nomxus 3,00 3,00 6,00
3 Hroro: 88,70 93,60 44,50 44,20 4,90 9,80 98,50
1 |xopumop 24,40
2 |xopunop 24,30
Hroro: 48,70
3 |xopunop 15,10
4 |xopunop 13,10
5 |xopunop 15,20
6  |madrosoii xomn 7,90
7 |xopunop 5,50
Hroro: 56,80
| |necr. knetka 23,50
Il |nect. kneTka 23,40
Hroro: 46,90
Il |nect. knetka 12,90
Hroro: 12,90
?TZ‘I;:““ 941,30 981,20 44940 | 491,90 | 39,90 16530 | 8870 | 1030,00
Al 5] 19 1 |xunas 16,00 16,00 16,00 2,50
2 |xyxast 9,30 9,30 9,30
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6 |momkus 1,40 1,40 2,80
Hroro: 34,40 35,80 16,00 18,40 1,40 2,80 37,20
20 1 |xunas 18,20 18,20 18,20
2 |xwunas 14,10 14,10 14,10
3 |xyxns 9,30 9,30 9,30
4 |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,10 3,10 3,10
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7  |xopumop 10,30 10,30 10,30
8 [kmamosas 3,10 3,10 3,10
9 [6ankon 0,80 0,80 2,70
Hroro: 62,10 62,90 32,30 29,80 0,80 2,70 64,80
21 1 |xunas 16,10 16,10 16,10
2 |xyxast 9,40 9,40 9,40
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
6 |6agxon 0,90 0,90 3,10
Hroro: 34,50 35,40 16,10 18,40 0,90 3,10 37,60
22 1 |xunas 16,00 16,00 16,00
2 |xyxast 9,40 9,40 9,40
3 |annHas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 |kopumop 5,10 5,10 5,10
6 |6agkon 0,90 0,90 3,10
Hroro: 34,50 35,40 16,00 18,50 0,90 3,10 37,60
23 1 |xunas 18,20 18,20 18,20
2 |xunas 13,70 13,70 13,70
3 |kyxus 9,40 9,40 9,40
4 |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,10 3,10 3,10
7 |xopumop 10,00 10,00 10,00
8 [|kmamosast 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,70
Hroro: 61,50 62,30 31,90 29,60 0,80 2,70 64,20
24 1 |xunas 15,90 15,90 15,90
2 |xyxns 9,10 9,10 9,10
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 4,90 4,90 4,90
6 |momkus 1,40 1,40 2,80
Hroro: 33,90 35,30 15,90 18,00 1,40 2,80 36,70
55 1 |xunas 16,00 16,00 16,00
2 |xyxns 9,00 9,00 9,00
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 4,80 4,80 4,80
6 |momkus 1,50 1,50 2,90
Hroro: 33,80 35,30 16,00 17,80 1,50 2,90 36,70
56 1 |xunas 18,20 18,20 18,20
2 |xunas 13,50 13,50 13,50
3 |xyxns 9,40 9,40 9,40
4 |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,10 3,10 3,10
7 |xopumop 10,00 10,00 10,00
8 [|kmamosast 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,70
Hroro: 61,30 62,10 31,70 29,60 0,80 2,70 64,00
57 1 |xunas 15,90 15,90 15,90
2 |xyxns 9,30 9,30 9,30
3 |Bannas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6 |6agkon 0,90 0,90 3,10
Hroro: 34,30 35,20 15,90 18,40 0,90 3,10 37,40
58 1 |xunas 15,90 15,90 15,90
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2 |xyxast 9,40 9,40 9,40
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6 |6agkon 0,90 0,90 3,10
Hroro: 34,40 35,30 15,90 18,50 0,90 3,10 37,50
59 1 |xunas 18,10 18,10 18,10
2 |xunas 14,00 14,00 14,00
3 |xyxast 9,50 9,50 9,50
4  |pannas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7  |xopumop 10,20 10,20 10,20
8 [kmamosas 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,70
Hroro: 62,00 62,80 32,10 29,90 0,80 2,70 64,70
60 1 |xunas 15,90 15,90 15,90
2 |xyxast 9,30 9,30 9,30
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
6 |momxus 1,50 1,50 2,90
Hroro: 34,20 35,70 15,90 18,30 1,50 2,90 37,10
96 1 |xunas 16,50 16,50 16,50
2 |xyxns 11,50 11,50 11,50
3 [canysen 3,80 3,80 3,80
4 |xopunop 3,90 3,90 3,90
5 |momxus 3,50 3,50 6,90
Hroro: 35,70 39,20 16,50 19,20 3,50 6,90 42,60
97 1 |xunas 15,10 15,10 15,10
2 |xunas 13,30 13,30 13,30
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sanHas 2,70 2,70 2,70
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 9,20 9,20 9,20
8 [xopumop 1,90 1,90 1,90
9 |momxus 1,90 1,90 3,80
10 |nomxus 1,80 1,80 3,60
Hroro: 62,70 66,40 28,40 34,30 3,70 7,40 70,10
98 1 |xunas 15,20 15,20 15,20
2 |xyxns 14,40 14,40 14,40
3 [canysen 4,10 4,10 4,10
4 |kmamosast 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6 |momkus 3,20 3,20 6,40
Hroro: 47,00 50,20 15,20 31,80 3,20 6,40 53,40
99 1 |xunas 15,20 15,20 15,20
2 |xunas 13,30 13,30 13,30
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sanHas 2,70 2,70 2,70
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 8,90 8,90 8,90
8 [xopumop 1,90 1,90 1,90
9  |nomwkus 1,90 1,90 3,80
10 |nmomxus 1,80 1,80 3,60
Hroro: 62,50 66,20 28,50 34,00 3,70 7,40 69,90
100 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
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4 |kopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 7,00
Hroro: 35,70 39,20 16,60 19,10 3,50 7,00 42,70
101 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,10 18,10 18,10
5 [canyszen 8,30 8,30 8,30
6 [ryamer 1,60 1,60 1,60
7  |xopumop 11,40 11,40 11,40
8 [kopumop 4,60 4,60 4,60
9 |momxus 1,90 1,90 3,70
10 |momxus 3,00 3,00 6,00
Hroro: 88,60 93,50 44,60 44,00 4,90 9,70 98,30
102 1 |xunas 16,60 16,60 16,60
2 |xunas 11,80 11,80 11,80
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,10 18,10 18,10
5 [canyszen 8,30 8,30 8,30
6 [ryamer 1,70 1,70 1,70
7  |xopumop 11,40 11,40 11,40
8 |kopumop 4,50 4,50 4,50
9 |momxus 1,90 1,90 3,70
10 |nomxus 3,00 3,00 6,00
Hroro: 88,70 93,60 44,70 44,00 4,90 9,70 98,40
1 |xopumop 24,40
2 |xopunop 24,50
Hroro: 48,90
3 |xopunop 15,30
4 [kopumop 13,00
5 |xopunop 15,20
6 |madrosoii xomn 8,00
7 |xopunop 5,50
Hroro: 57,00
| |necr. knetka 23,40
Il |nect. kneTka 23,30
Hroro: 46,70
Il |nect. knetka 13,00
Hroro: 13,00
ZITZ‘;;:“OS 941,80 981,80 45020 | 491,60 | 40,00 16560 | 8910 | 103090
Al 6] 25 1 |xunas 16,00 16,00 16,00 2,50
2 |xyxast 9,40 9,40 9,40
3 |annHas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
6 |momkus 1,50 1,50 2,90
Hroro: 34,40 35,90 16,00 18,40 1,50 2,90 37,30
26 1 |xunas 18,10 18,10 18,10
2 |xunas 13,90 13,90 13,90
3 |xyxnast 9,50 9,50 9,50
4  |panHas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7 |xopumop 10,30 10,30 10,30
8 [kmamosast 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,70
Hroro: 62,00 62,80 32,00 30,00 0,80 2,70 64,70
27 1 |xunas 16,00 16,00 16,00
2 |xyxns 9,30 9,30 9,30
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3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
6 |6agkon 0,90 0,90 3,10
Hroro: 34,30 35,20 16,00 18,30 0,90 3,10 37,40
28 1 |xunas 16,00 16,00 16,00
2 |xyxast 9,30 9,30 9,30
3 |annHas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,00 5,00 5,00
6 |6agkon 0,90 0,90 3,10
Hroro: 34,30 35,20 16,00 18,30 0,90 3,10 37,40
29 1 |xunas 18,10 18,10 18,10
2 |xunas 13,60 13,60 13,60
3 |xyxast 9,40 9,40 9,40
4  |pannas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7  |xopumop 10,10 10,10 10,10
8 [kmamosas 3,10 3,10 3,10
9 [6ankon 0,80 0,80 2,70
Hroro: 61,40 62,20 31,70 29,70 0,80 2,70 64,10
30 1 |xunas 15,90 15,90 15,90
2 |xyxns 9,20 9,20 9,20
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 4,90 4,90 4,90
6 |momkus 1,50 1,50 2,90
Hroro: 34,00 35,50 15,90 18,10 1,50 2,90 36,90
61 1 |xunas 16,00 16,00 16,00
2 |xyxns 9,10 9,10 9,10
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 4,90 4,90 4,90
6 |momkus 1,50 1,50 2,90
Hroro: 34,00 35,50 16,00 18,00 1,50 2,90 36,90
62 1 |xunas 18,10 18,10 18,10
2 |xunas 13,60 13,60 13,60
3 |xyxns 9,40 9,40 9,40
4  |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,00 3,00 3,00
7 |xopumop 10,10 10,10 10,10
8 [|kmamosast 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,60
Hroro: 61,30 62,10 31,70 29,60 0,80 2,60 63,90
63 1 |xunas 16,10 16,10 16,10
2 |xyxns 9,40 9,40 9,40
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 510 5,10 5,10
6 |0ankon 0,90 0,90 3,10
Hroro: 34,60 35,50 16,10 18,50 0,90 3,10 37,70
64 1 |xunas 15,90 15,90 15,90
2 |kyxus 9,30 9,30 9,30
3 |annHas 2,50 2,50 2,50
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6 |6agkon 0,90 0,90 3,10
Hroro: 34,20 35,10 15,90 18,30 0,90 3,10 37,30
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65 1 |xunas 18,10 18,10 18,10
2 |xunas 14,00 14,00 14,00
3 |xyxast 9,40 9,40 9,40
4  |pannas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7  |xopumop 10,20 10,20 10,20
8 [kmamosas 3,10 3,10 3,10
9 [6anxon 0,80 0,80 2,70
2 Hroro: 61,90 62,70 32,10 29,80 0,80 2,70 64,60
66 1 |xunas 15,90 15,90 15,90
2 |xyxast 9,30 9,30 9,30
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6  |momkus 1,50 1,50 2,90
1 Hroro: 34,30 35,80 15,90 18,40 1,50 2,90 37,20
103 1 |xunas 16,70 16,70 16,70
2 |xyxast 11,50 11,50 11,50
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,40 3,40 6,80
1 Hroro: 35,90 39,30 16,70 19,20 3,40 6,80 42,70
104 1 |xunas 15,20 15,20 15,20
2 |xunas 13,20 13,20 13,20
3 |kyxus 15,30 15,30 15,30
4 |ryaner 1,70 1,70 1,70
5 |sanHas 2,70 2,70 2,70
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 9,10 9,10 9,10
8 [xopumop 1,80 1,80 1,80
9 |momxus 1,90 1,90 3,80
10 |nomxus 1,80 1,80 3,50
2 Hroro: 62,40 66,10 28,40 34,00 3,70 7,30 69,70
105 1 |xunas 15,20 15,20 15,20
2 |xyxns 14,40 14,40 14,40
3 [canysen 4,10 4,10 4,10
4 |kmamosast 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6 |momkus 3,20 3,20 6,40
1 Hroro: 47,00 50,20 15,20 31,80 3,20 6,40 53,40
106 1 |xunas 15,20 15,20 15,20
2 |xunas 13,20 13,20 13,20
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sannas 2,80 2,80 2,80
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 8,90 8,90 8,90
8 [xopumop 1,90 1,90 1,90
9 |momxus 1,90 1,90 3,80
10 |nomxus 1,80 1,80 3,60
2 Hroro: 62,50 66,20 28,40 34,10 3,70 7,40 69,90
107 1 |xunas 16,60 16,60 16,60
2 |xyxns 11,40 11,40 11,40
3 [canysen 3,80 3,80 3,80
4 |kopuzmop 3,90 3,90 3,90
5 |momxus 3,50 3,50 7,00
1 Hroro: 35,70 39,20 16,60 19,10 3,50 7,00 42,70
108 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,20 16,20 16,20
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4 |xyxast 18,20 18,20 18,20
5 |canyszen 8,30 8,30 8,30
6 [ryamer 1,70 1,70 1,70
7  |xopumop 11,40 11,40 11,40
8 [kopumop 4,60 4,60 4,60
9  |momxus 1,90 1,90 3,70
10 |momxus 3,00 3,00 6,00
Hroro: 88,70 93,60 44,50 44,20 4,90 9,70 98,40
109 1 |xunas 16,70 16,70 16,70
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,20 18,20 18,20
5 [canyszen 8,30 8,30 8,30
6 [ryamer 1,70 1,70 1,70
7  |xopumop 11,50 11,50 11,50
8 [kopumop 4,60 4,60 4,60
9  |momxus 1,90 1,90 3,70
10 |momxus 3,00 3,00 6,00
Hroro: 89,00 93,90 44,70 44,30 4,90 9,70 98,70
1 |xopunop 24,40
2 |kopumop 24,30
Hroro: 48,70
3 |xopunop 15,30
4 |xopunop 13,10
5 |xopunop 15,30
6 |madrosoii xomn 8,10
7 |xopumop 5,50
Hroro: 57,30
| |necr. knetka 23,40
Il |nect. knetka 23,40
Hroro: 46,80
Il |nect. knetka 13,00
Hroro: 13,00
ZITZ‘;;_“M 941,90 982,00 44980 | 49210 | 4010 16580 | 8900 | 103090
Al 7] 31 1 |xunas 16,00 16,00 16,00 2,50
2 |xyxast 9,40 9,40 9,40
3 |annas 2,50 2,50 2,50
4 |ryaner 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6  |momkus 1,50 1,50 2,90
Hroro: 34,40 35,90 16,00 18,40 1,50 2,90 37,30
32 1 |xunas 18,20 18,20 18,20
2 |xunas 14,00 14,00 14,00
3 |xyxnast 9,50 9,50 9,50
4  |panHas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7  |xopumop 10,20 10,20 10,20
8 [kmamosas 3,10 3,10 3,10
9 |Gankon 0,80 0,80 2,80
Hroro: 62,10 62,90 32,20 29,90 0,80 2,80 64,90
33 1 |xunas 15,90 15,90 15,90
2 |xyxast 9,50 9,50 9,50
3 |saunas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 5,00 5,00 5,00
6 |OankoH 0,90 0,90 3,10
Hroro: 34,40 35,30 15,90 18,50 0,90 3,10 37,50
34 1 |xwunas 16,00 16,00 16,00
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2 |xyxast 9,40 9,40 9,40
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6 |6agkon 0,90 0,90 3,10
Hroro: 34,50 35,40 16,00 18,50 0,90 3,10 37,60
35 1 |xunas 18,20 18,20 18,20
2 |xunas 13,70 13,70 13,70
3 |xyxast 9,40 9,40 9,40
4  |pannas 2,60 2,60 2,60
5 [ryamer 1,40 1,40 1,40
6 |kopumop 3,10 3,10 3,10
7  |xopumop 10,10 10,10 10,10
8 [kmamosas 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,70
Hroro: 61,60 62,40 31,90 29,70 0,80 2,70 64,30
36 1 |xunas 16,10 16,10 16,10
2 |xyxast 9,00 9,00 9,00
3 |annas 2,60 2,60 2,60
4 |ryamer 1,40 1,40 1,40
5 [kopumop 4,90 4,90 4,90
6 |momxus 1,50 1,50 2,90
Hroro: 34,00 35,50 16,10 17,90 1,50 2,90 36,90
67 1 |xunas 16,00 16,00 16,00
2 |xyxns 9,10 9,10 9,10
3 |BanHas 2,50 2,50 2,50
4 |ryaner 1,40 1,40 1,40
5 [kopumop 4,90 4,90 4,90
6 |momkus 1,50 1,50 2,90
Hroro: 33,90 35,40 16,00 17,90 1,50 2,90 36,80
68 1 |xunas 18,20 18,20 18,20
2 |xunas 13,60 13,60 13,60
3 |xyxns 9,30 9,30 9,30
4  |BanHas 2,60 2,60 2,60
5 [ryaner 1,40 1,40 1,40
6 [kopumop 3,00 3,00 3,00
7 |xopumop 10,10 10,10 10,10
8 [|kmamosast 3,10 3,10 3,10
9 |6ankon 0,80 0,80 2,60
Hroro: 61,30 62,10 31,80 29,50 0,80 2,60 63,90
69 1 |xunas 16,00 16,00 16,00
2 |xyxns 9,20 9,20 9,20
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 5,00 5,00 5,00
6 |0ankon 0,90 0,90 3,10
Hroro: 34,20 35,10 16,00 18,20 0,90 3,10 37,30
70 1 |xunas 16,10 16,10 16,10
2 |xyxns 9,30 9,30 9,30
3 |BanHas 2,60 2,60 2,60
4 |ryaner 1,40 1,40 1,40
5 [xopumop 510 5,10 5,10
6 |0ankon 0,90 0,90 3,10
Hroro: 34,50 35,40 16,10 18,40 0,90 3,10 37,60
71 1 |xunas 18,10 18,10 18,10
2 |xunas 14,00 14,00 14,00
3 |xyxas 9,40 9,40 9,40
4  |pannas 2,50 2,50 2,50
5 [ryamer 1,40 1,40 1,40
6 [kopumop 3,00 3,00 3,00
7  |xopumop 10,20 10,20 10,20
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8 [kmamosas 3,10 3,10 3,10
9 [6ankon 0,80 0,80 2,70
2 Hroro: 61,70 62,50 32,10 29,60 0,80 2,70 64,40
72 1 |xunas 15,90 15,90 15,90
2 |xyxast 9,40 9,40 9,40
3 |annHas 2,50 2,50 2,50
4 |ryaner 1,40 1,40 1,40
5 [kopumop 5,10 5,10 5,10
6  |momkus 1,50 1,50 2,90
1 Hroro: 34,30 35,80 15,90 18,40 1,50 2,90 37,20
110 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,30 11,30 11,30
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 6,90
1 Hroro: 35,60 39,10 16,60 19,00 3,50 6,90 42,50
111 1 |xunas 15,10 15,10 15,10
2 |xunas 13,30 13,30 13,30
3 |xyxast 15,50 15,50 15,50
4 |ryamer 1,80 1,80 1,80
5 |sannas 2,80 2,80 2,80
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 9,10 9,10 9,10
8 [xopumop 1,90 1,90 1,90
9 |momxus 1,90 1,90 3,80
10 |nomxus 1,80 1,80 3,60
2 Hroro: 62,90 66,60 28,40 34,50 3,70 7,40 70,30
112 1 |xunas 15,30 15,30 15,30
2 |kyxus 14,30 14,30 14,30
3 [canysen 4,10 4,10 4,10
4 |kmamosast 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6 |momkus 3,20 3,20 6,40
1 Hroro: 47,00 50,20 15,30 31,70 3,20 6,40 53,40
113 1 |xunas 15,20 15,20 15,20
2 |xunas 13,20 13,20 13,20
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sannas 2,70 2,70 2,70
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 9,00 9,00 9,00
8 [xopumop 1,80 1,80 1,80
9 |momxus 1,90 1,90 3,80
10 |nomxus 1,80 1,80 3,60
2 Hroro: 62,40 66,10 28,40 34,00 3,70 7,40 69,80
114 1 |xunas 16,50 16,50 16,50
2 |xyxns 11,40 11,40 11,40
3 [canysen 3,80 3,80 3,80
4 |xopunop 3,90 3,90 3,90
5 |momxus 3,50 3,50 7,00
1 Hroro: 35,60 39,10 16,50 19,10 3,50 7,00 42,60
115 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |kyxus 18,30 18,30 18,30
5 [canyszen 8,20 8,20 8,20
6 [ryamer 1,70 1,70 1,70
7  |xopumop 11,40 11,40 11,40
8 [kopumop 4,50 4,50 4,50
9  |momxus 1,90 1,90 3,80
10 |momxwus 2,90 2,90 5,80
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HTroro: 88,70 93,50 44,60 44,10 4,80 9,60 98,30
116 1 |xunas 16,60 16,60 16,60
2 |xunas 11,80 11,80 11,80
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,30 18,30 18,30
5 [canyszen 8,40 8,40 8,40
6 [ryamer 1,70 1,70 1,70
7  |xopumop 11,50 11,50 11,50
8 [kopumop 4,60 4,60 4,60
9  |momxus 1,90 1,90 3,70
10 |momxus 2,90 2,90 5,80
Hroro: 89,20 94,00 44,70 44,50 4,80 9,50 98,70
1 |xopunop 24,50
2 |kopumop 24,40
Hroro: 48,90
3 |kopumop 15,30
4 |kopumop 13,10
5 [kopumop 15,20
6  |mudrosoit xomn 8,10
7  |xopumop 5,50
Hroro: 57,20
| |necr. knetka 23,50
Il |nect. knetka 23,50
Hroro: 47,00
Il |nect. knetka 13,00
Hroro: 13,00
ZITZ‘I;_“” 942,30 98230 | 45050 | 491,80 | 40,00 16610 | 8900 | 103130
A | 8 |117 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momkus 3,50 3,50 6,90
Hroro: 35,70 39,20 16,60 19,10 3,50 6,90 42,60
118 1 |xunas 15,10 15,10 15,10
2 |xunas 13,20 13,20 13,20
3 |xyxnast 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 |Bannas 2,70 2,70 2,70
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 9,10 9,10 9,10
8 [kopumop 1,90 1,90 1,90
9  |momxus 1,90 1,90 3,80
10 |nomxwus 1,80 1,80 3,60
Hroro: 62,50 66,20 28,30 34,20 3,70 7,40 69,90
119 1 |xunas 15,10 15,10 15,10
2 |xyxast 14,30 14,30 14,30
3 |[canyszen 4,20 4,20 4,20
4 |knamosas 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6 |momkus 3,20 3,20 6,30
Hroro: 46,90 50,10 15,10 31,80 3,20 6,30 53,20
120 1 |xunas 15,20 15,20 15,20
2 |xumas 13,40 13,40 13,40
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sannas 2,70 2,70 2,70
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 9,00 9,00 9,00
8 [xopumop 1,90 1,90 1,90
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9  |momxus 1,90 1,90 3,70
10 |momxus 1,80 1,80 3,50
Hroro: 62,70 66,40 28,60 34,10 3,70 7,20 69,90
121 1 |xunas 16,50 16,50 16,50
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 6,90
Hroro: 35,60 39,10 16,50 19,10 3,50 6,90 42,50
122 1 |xunas 16,60 16,60 16,60
2 |xunas 11,60 11,60 11,60
3 |xunas 16,20 16,20 16,20
4 |kyxast 18,10 18,10 18,10
5 [canyszen 8,20 8,20 8,20
6 [ryamer 1,60 1,60 1,60
7  |xopumop 11,30 11,30 11,30
8 [kopumop 4,50 4,50 4,50
9  |momxus 1,90 1,90 3,80
10 |momxus 3,00 3,00 6,00
Hroro: 88,10 93,00 44,40 43,70 4,90 9,80 97,90
123 1 |xunas 16,50 16,50 16,50
2 |xwunas 11,80 11,80 11,80
3 |xunas 16,20 16,20 16,20
4 |xyxns 18,00 18,00 18,00
5 [canysen 8,40 8,40 8,40
6 [ryaner 1,60 1,60 1,60
7 |xopumop 11,40 11,40 11,40
8 [xopumop 4,50 4,50 4,50
9 |momxus 1,90 1,90 3,80
10 |nomxus 3,10 3,10 6,10
3 Hroro: 88,40 93,40 44,50 43,90 5,00 9,90 98,30
1 |xopumop 15,20
2 |xopunop 13,30
3 [xopumop 15,00
4 |madrosoii xomn 8,10
5 [xopumop 5,50
Hroro: 57,10
| |necr. knetka 13,00
Hroro: 13,00
Hroromo 8 419,90 447,40 194,00 225,90 27,50 7010 | 5440 | 474,30
ITAKY:
Al 9 |124 1 |xunas 16,70 16,70 16,70
2 |xyxast 11,30 11,30 11,30
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,60 3,60 7,20
Hroro: 35,70 39,30 16,70 19,00 3,60 7,20 42,90
125 1 |xunas 15,10 15,10 15,10
2 |xunas 13,20 13,20 13,20
3 |xyxnast 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 |Bannas 2,70 2,70 2,70
6 [kmamosas 3,40 3,40 3,40
7 |xopumop 9,00 9,00 9,00
8 [xopumop 1,90 1,90 1,90
9 |momxus 2,00 2,00 4,00
10 |nomxus 1,90 1,90 3,80
2 Hroro: 62,40 66,30 28,30 34,10 3,90 7,80 70,20
126 1 |xunas 15,10 15,10 15,10
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2 |xyxast 14,30 14,30 14,30
3 |[canyszen 4,10 4,10 4,10
4 |knamosas 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6 |nomkus 3,40 3,40 6,80
Hroro: 46,80 50,20 15,10 31,70 3,40 6,80 53,60
127 1 |xunas 15,10 15,10 15,10
2 |xunas 13,20 13,20 13,20
3 |xyxast 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 [Bannas 2,70 2,70 2,70
6 |kmamosas 3,40 3,40 3,40
7  |xopumop 9,00 9,00 9,00
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 4,00
10 |nmomxms 1,90 1,90 3,70
Hroro: 62,40 66,30 28,30 34,10 3,90 7,70 70,10
128 1 |xunas 16,50 16,50 16,50
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,60 3,60 7,10
Hroro: 35,60 39,20 16,50 19,10 3,60 7,10 42,70
129 1 |xunas 16,60 16,60 16,60
2 |xunas 11,80 11,80 11,80
3 |xunas 16,30 16,30 16,30
4 |kyxus 18,10 18,10 18,10
5 [canyszen 8,30 8,30 8,30
6 [ryaner 1,70 1,70 1,70
7 |xopumop 11,40 11,40 11,40
8 [xopumop 4,50 4,50 4,50
9 |momxus 2,00 2,00 4,00
10 |nomxus 3,00 3,00 6,00
Hroro: 88,70 93,70 44,70 44,00 5,00 10,00 98,70
130 1 |xunas 16,50 16,50 16,50
2 |xunas 11,70 11,70 11,70
3 |xunas 16,20 16,20 16,20
4 |xyxns 18,00 18,00 18,00
5 [canysen 8,20 8,20 8,20
6 [ryaner 1,70 1,70 1,70
7 |xopumop 11,30 11,30 11,30
8 [xopumop 4,50 4,50 4,50
9 |momxus 2,00 2,00 4,00
10 |nomxus 3,00 3,00 6,00
Hroro: 88,10 93,10 44,40 43,70 5,00 10,00 98,10
1 |xopumop 15,20
2 |xopunop 13,10
3 |xopunop 15,20
4 |madrosoii xomn 8,00
5 |xopunop 5,50
Hroro: 57,00
| |necr. knetka 13,00
Hroro: 13,00
Hroro mo 9 419,70 448,10 194,00 22570 | 2840 7000 | 5660 | 476,30
ITAKY:
A |10 | 131 1 |xunas 16,60 16,60 16,60
2 |xyxns 11,40 11,40 11,40
3 [canysen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 6,90
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1 Hroro: 35,70 39,20 16,60 19,10 3,50 6,90 42,60
132 1 |xunas 15,20 15,20 15,20
2 |xunas 13,30 13,30 13,30
3 |xyxast 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 [Bannas 2,80 2,80 2,80
6 |kmamosas 3,40 3,40 3,40
7  |xopumop 9,00 9,00 9,00
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 3,90
10 |momxwus 1,90 1,90 3,70
2 Hroro: 62,70 66,60 28,50 34,20 3,90 7,60 70,30
133 1 |xunas 15,10 15,10 15,10
2 |xyxast 14,40 14,40 14,40
3 |canyszen 4,20 4,20 4,20
4 |knamosas 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6 |nomkus 3,20 3,20 6,30
1 Hroro: 47,00 50,20 15,10 31,90 3,20 6,30 53,30
134 1 |xunas 15,20 15,20 15,20
2 |xunmas 13,30 13,30 13,30
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sanHas 2,80 2,80 2,80
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 8,90 8,90 8,90
8 [xopumop 1,90 1,90 1,90
9 |momxus 2,00 2,00 3,90
10 |nomxus 1,80 1,80 3,60
2 Hroro: 62,60 66,40 28,50 34,10 3,80 7,50 70,10
135 1 |xunas 16,50 16,50 16,50
2 |xyxns 11,40 11,40 11,40
3 [canysen 3,80 3,80 3,80
4 |xopunop 3,90 3,90 3,90
5 |momxus 3,50 3,50 6,90
1 Hroro: 35,60 39,10 16,50 19,10 3,50 6,90 42,50
136 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |kyxus 18,10 18,10 18,10
5 [canysen 8,40 8,40 8,40
6 [ryaner 1,60 1,60 1,60
7 |xopumop 11,40 11,40 11,40
8 [xopumop 4,50 4,50 4,50
9 |momxus 1,90 1,90 3,80
10 |nomxus 2,90 2,90 5,80
3 Hroro: 88,60 93,40 44,60 44,00 4,80 9,60 98,20
137 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |xyxns 18,00 18,00 18,00
5 [canysen 8,30 8,30 8,30
6 [ryaner 1,70 1,70 1,70
7 |xopumop 11,30 11,30 11,30
8 [xopumop 4,60 4,60 4,60
9  |nomwkus 2,00 2,00 4,00
10 |nmomxus 3,00 3,00 5,90
3 Hroro: 88,50 93,50 44,60 43,90 5,00 9,90 98,40
1 |xopunop 15,30
2 |kopumop 13,20
3 |kopumop 15,20
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4 |mudrosoit xomw 8,10
5 [kopumop 5,50
Hroro: 57,30
| |necr. knetka 13,00
Hroro: 13,00
Hroro no 10 420,70 44840 | 19440 | 22630 | 27,70 7030 | 5470 | 47540
ITAKY:
A |11 | 138 1 |xunas 16,70 16,70 16,70
2 |xyxns 11,50 11,50 11,50
3 [canysen 3,80 3,80 3,80
4 |xopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 6,90
Hroro: 35,90 39,40 16,70 19,20 3,50 6,90 42,80
139 1 |xunas 15,20 15,20 15,20
2 |xunas 13,20 13,20 13,20
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sannas 2,80 2,80 2,80
6 |kmamosast 3,40 3,40 3,40
7  |xopumop 9,10 9,10 9,10
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 3,90
10 |nomxus 1,90 1,90 3,70
Hroro: 62,70 66,60 28,40 34,30 3,90 7,60 70,30
140 1 |xunas 15,20 15,20 15,20
2 |xyxast 14,40 14,40 14,40
3 |[canyszen 4,20 4,20 4,20
4 |knamosas 3,60 3,60 3,60
5 [kopumop 9,60 9,60 9,60
6  |momkus 3,20 3,20 6,30
Hroro: 47,00 50,20 15,20 31,80 3,20 6,30 53,30
141 1 |xunas 15,20 15,20 15,20
2 |xunas 13,30 13,30 13,30
3 |kyxas 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 [Bannas 2,70 2,70 2,70
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 8,90 8,90 8,90
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 3,90
10 |nomxus 1,80 1,80 3,60
Hroro: 62,50 66,30 28,50 34,00 3,80 7,50 70,00
142 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,80 3,80 3,80
5 |momxus 3,40 3,40 6,80
Hroro: 35,60 39,00 16,60 19,00 3,40 6,80 42,40
143 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,10 18,10 18,10
5 [canyszen 8,20 8,20 8,20
6 [ryamer 1,70 1,70 1,70
7 |xopumop 11,30 11,30 11,30
8 [xopumop 4,60 4,60 4,60
9 |momxus 2,00 2,00 3,90
10 |nomxus 2,90 2,90 5,70
Hroro: 88,50 93,40 44,60 43,90 4,90 9,60 98,10
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144 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,10 18,10 18,10
5 [canyszen 8,20 8,20 8,20
6 [ryamer 1,60 1,60 1,60
7  |xopumop 11,40 11,40 11,40
8 [kopumop 4,50 4,50 4,50
9 |momxus 2,00 2,00 4,00
10 |momxus 2,90 2,90 5,70
Hroro: 88,40 93,30 44,60 43,80 4,90 9,70 98,10
1 |xopunop 15,20
2 |kopumop 13,20
3 [kopumop 15,10
4 |mudrosoit xomw1 8,00
5 [kopumop 5,40
Hroro: 56,90
| |necr. knetka 13,00
Hroro: 13,00
Hroro no 11
. 420,60 448,20 194,60 226,00 27,60 69,90 54,40 475,00
ITAKY:
A | 12 | 145 1 |xunas 16,70 16,70 16,70
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,40 3,40 6,80
Hroro: 35,80 39,20 16,70 19,10 3,40 6,80 42,60
146 1 |xunas 15,00 15,00 15,00
2 |xunas 13,20 13,20 13,20
3 |xyxnast 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 |Bannas 2,80 2,80 2,80
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 9,00 9,00 9,00
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 4,00
10 |nomxus 1,90 1,90 3,70
Hroro: 62,40 66,30 28,20 34,20 3,90 7,70 70,10
147 1 |xunas 15,20 15,20 15,20
2 |xyxast 14,30 14,30 14,30
3 |[canyszen 4,20 4,20 4,20
4 |knamosas 3,60 3,60 3,60
5 |kopumop 9,70 9,70 9,70
6 |momkus 3,20 3,20 6,30
Hroro: 47,00 50,20 15,20 31,80 3,20 6,30 53,30
148 1 |xunas 15,30 15,30 15,30
2 |xunas 13,30 13,30 13,30
3 |xyxnast 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 [Bannas 2,70 2,70 2,70
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 8,90 8,90 8,90
8 [kopumop 1,80 1,80 1,80
9  |momxus 2,00 2,00 3,90
10 |nomxus 1,80 1,80 3,60
Hroro: 62,50 66,30 28,60 33,90 3,80 7,50 70,00
149 1 |xunas 16,60 16,60 16,60
2 |kyxus 11,30 11,30 11,30
3 [canysen 3,80 3,80 3,80
4 |xopunop 3,90 3,90 3,90
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5 |momxus 3,40 3,40 6,80
1 Hroro: 35,60 39,00 16,60 19,00 3,40 6,80 42,40
150 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,10 18,10 18,10
5 [canyszen 8,30 8,30 8,30
6 [ryamer 1,70 1,70 1,70
7  |xopumop 11,30 11,30 11,30
8 [kopumop 4,50 4,50 4,50
9  |momxus 2,00 2,00 3,90
10 |momxus 2,90 2,90 5,70
3 Hroro: 88,50 93,40 44,60 43,90 4,90 9,60 98,10
151 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,00 18,00 18,00
5 [canyszen 8,30 8,30 8,30
6 [ryamer 1,70 1,70 1,70
7  |xopumop 11,30 11,30 11,30
8 [kopumop 4,50 4,50 4,50
9 |momxus 2,00 2,00 3,90
10 |nomxus 2,80 2,80 5,50
3 Hroro: 88,40 93,20 44,60 43,80 4,80 9,40 97,80
1 |xopumop 15,30
2 |xopunop 13,10
3 |xopunop 15,20
4 |madrosoii xomn 7,80
5 |xopunop 5,40
Hroro: 56,80
| |necr. knetka 13,10
Hroro: 13,10
Hroro no 12
. 420,20 447,60 194,50 225,70 27,40 69,90 54,10 474,30
ITAKY:
152 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,50 11,50 11,50
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,40 3,40 6,80
1 Hroro: 35,80 39,20 16,60 19,20 3,40 6,80 42,60
153 1 |xunas 15,10 15,10 15,10
2 |xunas 13,20 13,20 13,20
3 |xyxnast 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 [Bannas 2,70 2,70 2,70
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 9,10 9,10 9,10
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 4,00
10 |momxwus 1,80 1,80 3,60
2 Hroro: 62,50 66,30 28,30 34,20 3,80 7,60 70,10
154 1 |xunas 15,10 15,10 15,10
2 |xyxast 14,40 14,40 14,40
3 |[canyszen 4,20 4,20 4,20
4 |kmamoBas 3,60 3,60 3,60
5 [xopumop 9,60 9,60 9,60
6 |momkus 3,20 3,20 6,30
1 Hroro: 46,90 50,10 15,10 31,80 3,20 6,30 53,20
155 1 |xunas 15,30 15,30 15,30
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2 |xunas 13,30 13,30 13,30
3 |xyxast 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 [Bannas 2,80 2,80 2,80
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 9,00 9,00 9,00
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 3,90
10 |nmomxms 1,80 1,80 3,50
Hroro: 62,80 66,60 28,60 34,20 3,80 7,40 70,20
156 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,50 11,50 11,50
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 6,90
Hroro: 35,80 39,30 16,60 19,20 3,50 6,90 42,70
157 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,10 18,10 18,10
5 [canyszen 8,30 8,30 8,30
6 |ryamer 1,60 1,60 1,60
7 |xopumop 11,40 11,40 11,40
8 [xopumop 4,60 4,60 4,60
9 |momxus 2,00 2,00 3,90
10 |nomxus 2,80 2,80 5,60
Hroro: 88,60 93,40 44,60 44,00 4,80 9,50 98,10
158 1 |xunas 16,80 16,80 16,80
2 |xwunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |kyxus 18,10 18,10 18,10
5 [canysen 8,20 8,20 8,20
6 [ryaner 1,60 1,60 1,60
7 |xopumop 11,50 11,50 11,50
8 [xopumop 4,60 4,60 4,60
9 |momxus 2,00 2,00 3,90
10 |nomxus 2,80 2,80 5,50
Hroro: 88,80 93,60 44,80 44,00 4,80 9,40 98,20
1 |xopumop 15,30
2 |xopumop 13,00
3 |xopunop 15,10
4 |madrosoii xomn 7,90
5 [xopumop 5,30
Hroro: 56,60
| |necr. knetka 12,90
Hroro: 12,90
Hroro mo 13 421,20 448,50 194,60 226,60 27,30 6950 | 5390 | 47510
ITAKY:
A | 14 | 159 1 |xunas 16,70 16,70 16,70
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 7,00
Hroro: 35,80 39,30 16,70 19,10 3,50 7,00 42,80
160 1 |xunas 15,10 15,10 15,10
2 |xwunas 13,30 13,30 13,30
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |BanHas 2,80 2,80 2,80
6 [kmamosast 3,40 3,40 3,40
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7  |xopumop 9,10 9,10 9,10
8 [kopumop 1,90 1,90 1,90
9  |momxus 1,90 1,90 3,70
10 |momxus 1,90 1,90 3,70
Hroro: 62,70 66,50 28,40 34,30 3,80 7,40 70,10
161 1 |xunas 15,10 15,10 15,10
2 |xyxast 14,30 14,30 14,30
3 |[canyszen 4,20 4,20 4,20
4 |knamosas 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6 |nomkus 3,20 3,20 6,30
Hroro: 46,90 50,10 15,10 31,80 3,20 6,30 53,20
162 1 |xunas 15,70 15,70 15,70
2 |xunas 12,80 12,80 12,80
3 |xyxast 15,60 15,60 15,60
4 |ryamer 1,70 1,70 1,70
5 [annas 2,80 2,80 2,80
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 8,90 8,90 8,90
8 [kopumop 1,60 1,60 1,60
9 |momxus 2,00 2,00 3,90
10 |nomxus 1,80 1,80 3,60
Hroro: 62,50 66,30 28,50 34,00 3,80 7,50 70,00
163 1 |xunas 16,60 16,60 16,60
2 |xyxns 11,40 11,40 11,40
3 [canysen 3,80 3,80 3,80
4 |xopunop 3,90 3,90 3,90
5 |momxus 3,40 3,40 6,80
Hroro: 35,70 39,10 16,60 19,10 3,40 6,80 42,50
164 1 |xunas 16,60 16,60 16,60
2 |xwunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |kyxus 17,90 17,90 17,90
5 [canysen 8,30 8,30 8,30
6 [ryaner 1,70 1,70 1,70
7 |xopumop 11,40 11,40 11,40
8 [xopumop 4,60 4,60 4,60
9 |momxus 2,00 2,00 3,90
10 |nomxus 2,80 2,80 5,60
Hroro: 88,50 93,30 44,60 43,90 4,80 9,50 98,00
165 1 |xunas 16,70 16,70 16,70
2 |xwunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |kyxus 18,10 18,10 18,10
5 [canysen 8,30 8,30 8,30
6 [ryaner 1,70 1,70 1,70
7 |xopumop 11,30 11,30 11,30
8 [xopumop 4,70 4,70 4,70
9 |momxus 2,00 2,00 4,00
10 |nomxus 2,80 2,80 5,60
Hroro: 88,80 93,60 44,70 44,10 4,80 9,60 98,40
1 |xopumop 15,10
2 |xopunop 13,10
3 [xopumop 15,00
4 |madrosoii xomn 8,00
5 |kopumop 5,40
Hroro: 56,60
| |necr. knetka 13,00
Hroro: 13,00
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Hroro no 14
. 420,90 448,20 194,60 226,30 27,30 69,60 54,10 475,00
ITAKY:
166 1 |xunas 16,60 16,60 16,60
2 |xyxns 11,50 11,50 11,50
3 [canysen 3,80 3,80 3,80
4 |xopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 6,90
1 Hroro: 35,80 39,30 16,60 19,20 3,50 6,90 42,70
167 1 |xunas 15,10 15,10 15,10
2 |xunas 13,20 13,20 13,20
3 |xyxns 15,40 15,40 15,40
4 |ryaner 1,70 1,70 1,70
5 |sannas 2,80 2,80 2,80
6 |kmamosast 3,40 3,40 3,40
7 |xopumop 9,00 9,00 9,00
8 [xopumop 1,90 1,90 1,90
9 |momxus 2,00 2,00 4,00
10 |nomxus 1,90 1,90 3,70
2 Hroro: 62,50 66,40 28,30 34,20 3,90 7,70 70,20
168 1 |xunas 15,10 15,10 15,10
2 |xyxns 14,40 14,40 14,40
3 |[canyszen 4,20 4,20 4,20
4 |knamosas 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6  |momkus 3,20 3,20 6,30
1 Hroro: 47,00 50,20 15,10 31,90 3,20 6,30 53,30
169 1 |xunas 15,20 15,20 15,20
2 |xunas 13,30 13,30 13,30
3 |xyxnast 15,30 15,30 15,30
4 |ryamer 1,70 1,70 1,70
5 [Bannas 2,80 2,80 2,80
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 9,00 9,00 9,00
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 3,90
10 |nomxus 1,80 1,80 3,50
2 Hroro: 62,60 66,40 28,50 34,10 3,80 7,40 70,00
170 1 |xunas 16,60 16,60 16,60
2 |xyxast 11,40 11,40 11,40
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,50 3,50 7,00
1 Hroro: 35,70 39,20 16,60 19,10 3,50 7,00 42,70
171 1 |xunas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |xyxast 18,10 18,10 18,10
5 [canyszen 8,30 8,30 8,30
6 [ryamer 1,70 1,70 1,70
7  |xopumop 11,30 11,30 11,30
8 [kopumop 4,50 4,50 4,50
9  |momxus 2,00 2,00 3,90
10 |momxus 2,80 2,80 5,60
3 Hroro: 88,50 93,30 44,60 43,90 4,80 9,50 98,00
172 1 |xwnas 16,60 16,60 16,60
2 |xunas 11,70 11,70 11,70
3 |xunas 16,30 16,30 16,30
4 |kyxus 18,10 18,10 18,10
5 [canyszen 8,20 8,20 8,20
6 [ryaner 1,60 1,60 1,60
7 |xopumop 11,50 11,50 11,50
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8 [kopumop 4,60 4,60 4,60
9  |momxus 2,00 2,00 4,00
10 |momxus 2,80 2,80 5,60
Hroro: 88,60 93,40 44,60 44,00 4,80 9,60 98,20
1 |xopunop 15,30
2 |kopumop 13,10
3 |kopumop 15,10
4 |muadrosoit xom1 8,00
5 [kopumop 5,40
Hroro: 56,90
| |necr. knetka 13,00
Hroro: 13,00
Hroro no 15
. 420,70 448,20 194,30 226,40 27,50 69,90 54,40 475,10
ITAKY:
A |16 |173 1 |xunas 16,70 16,70 16,70
2 |xyxns 11,50 11,50 11,50
3 [canysen 3,80 3,80 3,80
4 |xopumop 3,80 3,80 3,80
5 |momxus 3,50 3,50 6,90
Hroro: 35,80 39,30 16,70 19,10 3,50 6,90 42,70
174 1 |xunas 15,20 15,20 15,20
2 |xunas 13,30 13,30 13,30
3 |kyxast 15,30 15,30 15,30
4 |ryamer 1,70 1,70 1,70
5 |Bannas 2,80 2,80 2,80
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 9,10 9,10 9,10
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 3,90
10 |momxus 1,90 1,90 3,70
Hroro: 62,70 66,60 28,50 34,20 3,90 7,60 70,30
175 1 |xunas 15,20 15,20 15,20
2 |xyxast 14,30 14,30 14,30
3 |[canyszen 4,20 4,20 4,20
4 |knamosas 3,60 3,60 3,60
5 [kopumop 9,70 9,70 9,70
6  |momkus 3,20 3,20 6,30
Hroro: 47,00 50,20 15,20 31,80 3,20 6,30 53,30
176 1 |xunas 15,20 15,20 15,20
2 |xunas 13,30 13,30 13,30
3 |kyxas 15,40 15,40 15,40
4 |ryamer 1,70 1,70 1,70
5 [Bannas 2,80 2,80 2,80
6 [kmamosas 3,40 3,40 3,40
7  |xopumop 9,00 9,00 9,00
8 [kopumop 1,90 1,90 1,90
9  |momxus 2,00 2,00 3,90
10 |momxus 1,80 1,80 3,60
Hroro: 62,70 66,50 28,50 34,20 3,80 7,50 70,20
177 1 |xunas 16,70 16,70 16,70
2 |xyxast 11,50 11,50 11,50
3 |[canyszen 3,80 3,80 3,80
4 |kopumop 3,90 3,90 3,90
5 |momxus 3,40 3,40 6,80
Hroro: 35,90 39,30 16,70 19,20 3,40 6,80 42,70
178 1 |xunas 16,70 16,70 16,70
2 |xwunas 11,80 11,80 11,80
3 |xunas 16,30 16,30 16,30
4 |xyxns 18,00 18,00 18,00
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5 [canyszen 8,20 8,20 8,20
6 [ryamer 1,60 1,60 1,60
7  |xopumop 11,30 11,30 11,30
8 [kopumop 4,50 4,50 4,50
9 |momxus 2,00 2,00 3,90
10 |nomxus 2,90 2,90 5,70
Hroro: 88,40 93,30 44,80 43,60 4,90 9,60 98,00
179 1 |xwunas 16,80 16,80 16,80
2 |xumas 11,70 11,70 11,70
3 |xunmas 16,20 16,20 16,20
4 |xyxast 18,00 18,00 18,00
5 [canyszen 8,20 8,20 8,20
6 [ryamer 1,60 1,60 1,60
7  |xopumop 11,50 11,50 11,50
8 [kopumop 4,60 4,60 4,60
9 |momxus 2,00 2,00 3,90
10 |nomxus 2,80 2,80 5,60
Hroro: 88,60 93,40 44,70 43,90 4,80 9,50 98,10
1 |xopunop 15,10
2 |kopumop 13,20
3 |kopumop 15,30
4 |nugrosoii xomn 8,00
5 |xopunop 5,40
Hroro: 57,00
| |necr. knetka 13,00
Hroro: 13,00
Hroro no 16
rany: 421,10 448,60 195,10 226,00 27,50 70,00 54,20 475,30
MAalIHuHHOE
A 1 |nomewenue 15,60
nudra
2 |kopunop 10,70
MalIHuHHOE
3  |nomemenue 15,80
nudra
|| uep
| | nax 4 |kopunop 10,60
|| Hroro: 52,70
] | |necr. kneTka 21,30
| Il |necr. kneTka 21,10
|| Hroro: 42,40
Il |necr. knetka 13,00
Hroro: 13,00
Hroro ru.) 108,10
JepaaKy:
MaIlWHHOE
oT™ 5 |momemenne 17,60
mgra
Hroro: 17,60
| |necr. knetka 14,30
Hroro: 14,30
Hroro m.) 31.90
oTMeTKe!
Bcero nmo
Snammio 9454,70 9951,70 4451,60 5003,10 497,00 |2214,10 2336,60 | 1041,30 | 10496,00
B T.4. J.LK 577,30




